DISCRIMINANT:  {B2-4acp pP_54

The discriminant determines the number and
type of solutions of any quadratic
#| (remember to set the equation = O first).

What is a solutionh'_ootlyo?_x-_"w_

Discriminant # of roots types of roots

-Positive 2 real
(if the discriminant is a perfect square the roots are rational
and the equation can be factored...and if not a perfect
square the roots are E[% 2

-Zero 1 real

(this is a called a double root...where the graph "bounces" off
of the x-axis)

-Negative 0 real
(no real roots means there must be 2 complex or imaginary
2 x-intercepts 1 x-intercept 0 x-intercepts
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How many and what type How many and what type How many and what type
of solutions: of solutions: of solutions:
Q\RU’\\ ‘ zZzM‘ O Qza\{
(2 complex)
What kind of discriminant: What kind of discriminant: What kind of discriminant:
Positive =ero negative
Name Period
| 5.3A  Number and Type of Soluti Part 1

1.  Whatis the discriminant? What does it do?

. Tells vs the nuwber
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oC+bx+c=Q

#2-9: Find the discriminant, the number of solutions and the type of solutions for each equation.
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discriminant: Ea discriminant:
number of solutions: number of solutions:
type of solutions: ‘ type of solutions: %



Name Period
‘ 5.3A  Number and Type of Solutions: Part I
#2 -9 (continued): Find the discriminant, the number of and the type of solutions for each
equation.
6. 8r+l3-16x2 2 7. T +16x411=0
-+ -
o oy v
2
loy*+3x+| =
o WV -Fal
X = 2
L=t (8)-4@)1)
C=|
discriminant: Q discriminant
number of solutions: I number of solutions:
type of solutions: EQ a \ type of solutions:
8.

St -1l +6=0

9. 0=4x +5x+2

number of solutions:
type of solutions:

number of solutions:

type of solutions:

10. On a quiz, Brittani used the discriminant to find the number and type of solutions. Find her mistake and find
the correct solution.

—6x+5

b? —dac
=6 -4(1)(5)
=36-20
discriminant: —56

solutions: 2 imaginary solutions
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